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Q.1. Who among the following saw Kautilya's ‘Artha shastra’ as a work that highlights the need for power in politics as the
dominant reality ?
ﬁwﬁﬁﬁﬁmﬁ@ma}'aﬁﬂﬁwﬁ@ma}mﬁwamﬁwﬁﬁaﬁwﬁ
Y@ aRifdehdr §arar & ?

A). |Henry Kissinger [Key]
T fHRioR

B). | Max Weber

AR qR

©). |Michel Foucault

fareret et

D). |Hannah Arent

BT 3R

Q.2. 'Shanti Parva' is a part of which of the following ?
grifey g’ fe=ifea §  fraer wrT @ ?

A). Manu Smriti

wg wfer

B). Ramayan

NXTHTIOT

Q). Mahabharat [Keyl
HEMRA

D). Ramcharit Manas
IFERT AT

Q.3.  Which of the following Indian Political thinker is associated with Integral Humanism ?

frrifea & 9 frg AR IoHIfde faRe &1 G THTd AMgaE § ?

A).  |Agganna sutta
EINISES]
B). Kabir
PR
Q). Pandita Ramabai
ufdgdr HETE
D). Deendayal Upadhyay [Key]
dIedTel ST
Q.4. Who among the following became popular as 'Periyar’ ?
fAifea § 9 o IRAR' & T | AT g ?
A). Bal Gangadhar Tilak
EIGRRICNEED
B). Narayan Guru
ARR o
Q). Sri Aurobindo
3 aRfI=
D). E.V. Ramasamy [Key]
ERCIARRIRSIGLl
Q.5. Which among the following is not related to Jayaprakash Narayan ?

fr=ifra & 9 fraer G SAUSRT TRRIT § T8 € ?



A).

B).

Q).

D).

Q.6.

A).

B).

Q).

D).

Q.7.

A).

B).

Q).

D).

Q.8.

A).

B).

Q).

D).

Q.9.

A).

B).

Q).

D).

Party less democracy

ESACEERSICES

People's Ethics
e Aif

Total Revolution

T wifd

Seven Revolutions [Key]

e shife

Dr. Bhimrao Ambedkar obtained his Ph.D. degree from which of the following universities ?

. WRT Isax 3 Nwa ). Sy fAmifed # fea fvafderem 9 wa @) ?

Chicago
R

New York

RRIEd

Columbia [Key]
preTfrear

Oxford
SHRIBIS

Which of the following is related to the source of rights ?

forifea o 9 forde Ty IRPRId AT A & ?

Burke-Pane Debate [Key]
59 dPb

Beveridge Report
It Ruard

Gierke-Maitland Thesis
firrs—dedvs R

Miliband-Poulantzas Debate
faferdves—areies™ d@

Who among the following considered freedom as a ‘collective venture' ?

fifea 3 | B Waaar o U6 GHfed @6’ S wY § AMGT § 7

Rousseau [Key]

Raxill

Hobbes

g

J.S. Mill
o, e

Bentham
Rkl

The term used by Plato for freedom is -

wiel gRT Wasar @ g ygaa fvar ar o § -

Metics
afeary

Eleutheria [Key]
TgIRaT

Megnesia

3T

Kallipolis
Fefrarfer

Q.10. Which of the following concept of equality is against John Rawls' notion of distribution of primary goods ?

Wﬁﬁwﬁﬁﬁ@mﬁﬁw%ﬁmwmwm%ﬁw$ﬁw%



A).  |Amartya Sen's Equality of Capabilty
A AT H AT HY AT

B). |Walzar's Complex Equality [Keyl
qreoR Bl el FHAT

Q). |Reverse Discrimination

[EENSREGICE

D). |Luck Egalitarianism
AT FHATITS

@M. Who among the following thinker/s is/are related to the idea of deliberative democracy ?
(1) David Miller (2)J. Drysek
(3) Joshua Cohen

Choose the correct answer —

ifhd fTaR® / fTaR®T § 9 9 dFar/ 9 a9l diedd @& AR 9 9@ed & 2

(1) sfas fAer (2) 9. gIgvid
(3) SITRIRAT DIE
ol IR @ a9 Holv —
A). [Only (1)
@aa (1)
B). |Only (1) and (2)
@ad (1) 3R (2)
Q). Only (1), (2) and (3) [Key]
).

)
D). (1), 2) (3)and (4)
q

Q.12. . . Py . . .
Who among the following thinker/s is/are related to the i1dea of deliberative den

(1) David Miller (2)J. Drysek
(3) Joshua Cohen

Choose the correct answer —

fr=Ifhd faamed / faamal 9 | oEar /9 faueit daread @ faae ¥ aefed g ?

(1) Sfas e (2) 5. SEWI®

(3) SIRIT BIE

Hal 3AY BT <R HIoil —



Bad (2) 3R (3)

Q). OnIy 1) and (3)

) 3R

M

@9 (1) 9 (3)

D). [(1),(2)and (3) [Keyl
(1). (2) 3R (3)

Q.13. Who among the following believed that power constituted through accepted forms of knowledge, scientific
understanding and ‘truth’ ?

mﬁﬁﬁ?ﬂmwﬁwmﬁ?mﬁamﬁﬂhaﬁﬁwﬁﬂﬁwﬁmwaﬁ?‘wrﬁ

A). |Lord Acton
s vaed

B). |Michel Foucault [Key]
BRG]

C).  |David Campbell
SESE R E]

D). |J. Derrida
o1, SRer

Q.14. Who among the following defines citizenship as a full and equal membership in a political community ?

frifd § | B ARG Y AoFIe FYI™ B Qo 3R 9 G & ®9 H gREINT HRaT & ?

A). |Iris Marion Young
amsRer ARFe =T

B). |TH.Marshall [Key]
RGN

Q- |will Kymlicka
faer famferar

D). |Michael Walzer
HIghel dleviy

Q.15. Who among the following characterized early liberalism as 'possessive individualism® ?

fifea 4 9 P RIS STRAR 31 Waes Afdaas’ & w0 ¥ R fear g ?

A). Immanual Kant
AU dlve

B). C.B. Macpherson [Key]
WA, AFwmeT

Q). J.S. Mill
AL

D). Isaiah Berlin
ENIRIEIRE]

Q.16. Who among the following comes under the category of conservative thinker ?

fifea § 9 B9 wieard) faars &1 Aot § amar & ?

A). J.S. Mill
AL
B). T.H. Green
EAGAIE]
Q). Edmund Burke [Keyl
TsHS 9%
D). Immanual Kant
AU PIve
Q.17. Which of the following method is not related to Aristotle ?
frifea # & 59 ugfy o1 a9y oRE W T & ?
A). Historical

NEIRCY




B). Teleogical

T WP

0. Inductive
KINKSIRIED

D). Deductive [Key]
[EMGRIRED

@18 Match list T with list IT and select the correct answer by using the codes given be

List I (Book) List IT (Thinker)
(1) The Prince (1) Machiavelli
(2) The Modern Prince (11) Gramsci
(3) The Human Condition (111) Herbert Marcuse
(4) One Dimensional Man (1v) Hannah Arendt

gl 1 1 gt 1T 9 et I 3l &e § 8 Wal Y @l oI ifoiy —

AL (@) T 1 ()
(1) fu=~ (1) HfdaATac
(2)wrs U (ii) 9reef]
(3) & AT BT (iii) BEC HIYeRIS
(4) T SISH=TTel HH (iv) BT 3T
A).
1-->(1) 2-->(11) 3-->(111) 4-->(1v)
1--::::::-(1) 2-->(11) 3-->(111) 4-->(1v)
B).
1--=( (11) 2--> (1) 3--> (111) 4--> (1v)
1--=( (11) 2--> (1) 3--> (111) 4--= (1v)

0. [Key]



1--= (l) === (11) 3--= (1\) 4--= (111)

1--> (1) 2--> (11) 3> (1v) 4--> (111)
D).
1--:1:::- (11) 2--:3:::- (l) 3--::::- (1\') il.--:i::;=. (111)
1 (i) 2 (i) 3 (iv) 4= (i)
Q.19. John Rawl's theory of Justice is not related to -
S e » g Rigia ¥ a8 f —
A). Veil of Ignorance
TSI BT Ui
B). Pure Procedural Justice
faeg ufsharers =
0. Entitlement Theory [Keyl
fereRar Rigid
D). Laxical Priority Order
faery gofar %A
Q.20.

Consider the following statements and select the correct code given below :
t=} o

(1) J.S. Mill supports unlimited freedom of thought and expression.

(2) 1.S. Mill advocates legal restriction on freedom of self regarding actions.

Code —

ferifebd dweri uv fa=me dIfSTU 3iv i fau W8l | @l g+ —
(1) 91.T9. fier fa=am 3T sifaerfad o 3rATfad ad=Idar & 9HeiA Hedl = |
(2) S1.UH. e Tfawres BRIl U¥ b=l Ufael @l adreld BHdl o |

o

A). Only (1) is true  [Key]
Dad (1) 9 B

B). Only (2) is true
Dad (2) 9 B

C).  [Both (1) and (2) are true
(1) 9 (2) i v ¥



D). |Both (1) and (2) are false
(1) 7 (2) &I e & |

Q.21. Which of the following group of countries is unitary in nature ?

1 3§ | ST <l @1 99 Iafa 9 (e © 7

A). Australia, Belgium, Italy, Myanmar

B). Bangladesh, Cuba, New Zealand, Turkey [Key]
qIETes], a1, goilels, TH

0. Brazil,South Africa, Russia, Tanzania

D). Zimbabwe, Kenya, Loas, Canada

R, BT, <A1, HeTST

Q.22. Which model of pressure group politics emphasises on dispersal of power and democratic accountability ?

GG g ISR BT D4 Ufoey e & AR sk Aedife Saees! R 96 qar 87

A).  |Corporatism
PRINCATE

B). |New Right
q gfayor

CO).  |Pluralism [Key]
ggaldiq

D). New Left
d 9H

@2 Match list I with list IT and select the correct answer by using the codes given below —
ListI (Theory of political party) List IT (Basic feature of political party)
(1) Catch all party (1) Political active elite providing ideology leadership
(2) Revolutionary party (11) Stress on recruitment and organization
(3) Mass party (111) Build up coalitions of support
(4) Cadre party (1v) Overthrow existing constitutional structure
Tl I &1 g4l 11 9 Fam ST iR @ | |9 981 SR &1 9949 DIy —

Al [RISTHID < BT YhR) Tl [ (Jeifae & & 9w [Jeidm)

(1) womash <a (1) TSIfad WU | by IS §RT AR ~1dcd
(2) swifderR < (11) ¥IHt 3R GTed W g

(3) SYS & (111) T @ TGEEMET BT FHTOT

(4) rfEdr (iv) fae™ Haenfe i &1 gofel

dqc

A).

(1)-(i1), (2)-(1v), (3)-(1). (4)-(i)



(1)-(1a1),

(2)-(1v),

(3)-(1).

(4)-(1)

B).

(1)-(111).

(1)-(111).

(2)-(1v),

(2)-(1v),

(3)-(10),

(3)-(1),

(4-(1)

(4-(1)

[Key]

Q).

D).

(1)-(11n),

(1)-(11n),

(2)-(11),

(2)-(11),

(3)-(1),

(3)-(1),

(4)-(1v)

(A)-(iv)

(1)-v),

(1)-(iv),

(2)-(110),

(2)-(1in),

(3)-(1),

(3)-(1),

(4)-(11)

(4)-(11)

Q.24.

A).

B).

Q).

D).

Q.25.

A).

B).

Q).

D).

Q.26.

According to Almond and Verba, which political culture is best suited to Liberal Democracy ?

TS TF a1 B ATAR, DI oD Wi SIR dldad & waragad @ ?

Parochial

Haprof

Subject
ESIGIEH

Participant

REGIRI

Civic [Key]
AR S

The best example of a nominal head of the executive is -

PRSI D FAHUN eheT BT FaATT IR & —

America

JFRIHT

Russia
q

England [Keyl

givS

China
Gk

The basic characteristic of Post-Behaviouralism is -




TR AIERATE I Y e & —

A). Traditional approach
RIRATT gfReamror
B). Study of state
TR T I
Q). Reform is not the basis of knowledge
S BT AR GUIR &
D). It is not a reaction but a revolution [Key]
g yfaferar 98 &g wifa 87
Q.27. According to the socialist theory of the functions of state - state is :-
RIS B BT @ oA RIgid & SgaR — 99 § -
A). A necessary evil
LGSR CENE]
B). An ethical ideal
% Afde amest
Q). A positive good [Keyl
Th AHRIHD ITBTS
D). A spiritual aspect
& AmeTfcads el
Q.28. Who advocated the theory of four pillar state ?
e T8 & Rigia & feam wweia fear o ?
A). Deendayal Upadhyay
TAEATA SUTATT
B). Jayaprakash Narayan
STIYHTRT ARTIOT
0. Ram Manohar Lohiya [Key]
M AAER difear
D). Dr. B.R. Ambedkar
Sf. 1R, IS

Q.29. From where is the term 'Union’ mentioned in article 1 of the constitution of India, taken ?

IRd & Wy & AT 1 ¥ Scaifad ' (GfF9) I Fel 9 forr T 8 ?

A). British North American Act, 1867  [Keyl
fafeer Amef amReT vae, 1867 W

B). Constitution of Germany
S @ Afdur

Q). Constitution of U.S.SR.
Y UHUAINR. & e |

D). Constitution of U.S.A.

JUHY. B AfEE |
Q.30. The first deputy chairman of the constitution Assembly of India was -
AR W™ 91 & Ugel SuFWia o —
A). H.C. Mookerji
ERik il
B). Syama Prasad Mukherjee
RIS JFoil
Q). Frank Anthony  [Key]
Iv el
D). V.T. Krishnamachari
.8, FEEERT

Q.31. Rajni Kothari's book ‘Politics in India’ is written on the basis of which of the following approach ?



IS PSR B YIS difefedd 9 sfear i # 9 fod Surm & o w ford € & ?

A).

B).

Q).

D).

Normative
HTIRS

Marxist-Leninist

RIS eI Tarar

Historical

NGRIRED

Q.32.

A).

B).

Q).

D).

Q.33.

A).

B).

Q).

D).

Q.34.

A).

B).

Q).

D).

Q.35.

A).

B).

Q).

D).

Structural-functional [Key]

RAATHB—TBRIATG

Who called India's party system as ‘one party dominant system’ ?

fra RA B T YUl B TP el YW AR HET & 7

G. Sartori
ST, ARERY

Rajni Kothari
SSRICACIN]

W.H. Morris Jones  [Keyl
Ty, Ud. AR ST

Arend Lijphart
3R~ foremre

All kind of disputes relating to the presidential election in India are decided by -

IR § Igufy @ Fafew @ 9=l R yeR @ farel @1 Foly fear sar @ —

The Supreme Court  [Key]
TIdH IR §IRT

Lok Sabha
ATHIHT FRT

Vice President

SIRTEUfT §RT

The High Court
ST ATeld gIRT

The sanctioned posts for the additional judges in the Allahabad High Court are (as on 1 June, 2022) -

SATEEIE S URTAd ¥ R AR & fog Wiagd ug € (1 9, 2022 T6) —

40 [Key]
40

80
80

120
120

160
160

In which article of the constitution the Governor of Uttar Pradesh can reserve the bill passed by the legislature for
President's approval ?
ﬂﬁuﬁ$ﬁ7\qaﬁz$ﬂgwmﬁwﬁwﬁﬁwmmﬁﬁﬁﬁﬁﬁwaﬁwﬁﬁ
IR 7 G I © 7

Article 256
T 256

Article 257
ITYT 257

Article 200 [Key]
T 200

Article 207

IgeeE 207




Q.36.

A).

B).

0.

D).

Q.37.

A).

B).

0).

D).

Q.38.

A).

B).

0).

D).

Q.39.

Assertion (A) : New social movements in India have resulted in pro-poor policy making.
Reason (R)  : The state has become more accountable due to new social movements.
Assertion (A)and Reason (R). Examine these two statements carefully and select

the answers of these questions using the codes given below :

Code:
FE (A): YR H A9—HMINIS Saledl & URVIFEDY TR & Uel H Alfc—{=Hior gai
&

dRoT (R):  Ad—wMITd el & gRUMwawY Isd Afeid STdEes 8 197 o |

@A (A) Td HRUT (A) | 39 QM1 gaaqadi &I AGEFIgad GRIET BTy qRIl i ael

BT YANT HY el SR G —

Both (A) and R) are true, and (R) is the correct explanation of (A)
(A) 3R (R) aFl 9 &, @I (R), (A) &1 I8! IRAT B |
Both (A) and R) are true, but (R) is not the correct explanation of (A) [Key]
(A) 2R (R) €Ml ¥ &, 9xq (R), (A) & T8l IRl =8l o |
(A) is true, but (R) is false

(A) ¥ © 93 (R) 36 & |

(A) is false, but (R) is true

(A) 293 © IR (R) 9 © |

Politics of which state is polarised along Vokkalinga-Lingayat castes ?

e g A oG deeifern—feRmad sl W gdiagd © ?

Karnataka [Key]
PCH

Kerala

oG

Andhra Pradesh
I Uy
Tamilnadu

SEEEIS

3

Few stats in India have a bicameral legislature, which of the following list about such states is correct ?

IRd & §B T4l ¥ fgaaore furrisa 8, f1 &t § 9 9 a1 &7 S SR e w8 © ?

Uttar Pradesh, Bihar, Karnataka, Andhra Pradesh [Key]
Andhra Pradesh, Telengana, Rajasthan, Uttar Pradesh
Maharashtra, Uttar Pradesh, Uttarakahand, Gujrat
Madhya Pradesh, Tamilnadu, Uttar Pradesh, Kerala

From the following which is not a United Nations Agency ?



A).

B).

Q).

D).

Q.40.

A).

B).

Q).

D).

for=iftha # & Wga W go e © -

United Nations Commission for Refugees
g g IRVMAT SRITT

World Health Organization
faea ey H1ed

International Monetary Fund

SR HaT By

World Wild-Life Fund  [Keyl]
Tos qges ASH BUS

The ASEAN was created in 1967 through -

1967 ¥ R @1 fEtor far = o —

Paris Declaration
URY =TT T

Bangkok Declaration [Keyl
et =T gRI

Laos Declaration

AT EYOT §TRT

Jakarta Declaration

SpTdT BT gRT




